National 4 – SDD – Outcome 1
	Line 1
	french = int(raw_input(“Please enter the French mark “))

	Line 2
	history = int(raw_input(“Please enter the History mark “))

	Line 3
	maths = int(raw_input(“Please enter the Maths mark “))

	Line 4
	computing = int(raw_input(“Please enter the Computing mark “))

	Line 5
	english = int(raw_input(“Please enter the English mark “))

	Line 6
	

	Line 7
	total = french + history + maths + computing + english

	Line 8
	average_mark = total / 5

	Line 9
	

	Line 10
	if average_mark >= 60:

	Line 11
	         print “Well done you have been awarded a merit”

	Line 12
	

	Line 13
	print “Your average mark = “, average_mark


Name _________________________









1. Explain what line 2 of the code will do when the code is run.Answer

A. Ask the user for the Maths mark and store it in a variable called history as an integer
B. Ask the user for the History mark and store it in the variable called history as an integer.
C. Ask the user for the History mark and store it in the variable called history as a string.
D. Ask the user for the French mark and store it in a variable called history as a real number.

2. The if construct is used in the above example. Explain what the if construct does.Answer

A. It checks to see if the average mark is greater than or equal to 60 then it awards a merit if it is.
B. It checks to see if the average mark is greater than 60 and then it awards nothing to the user.
C. It checks to see if the average mark is greater than or equal to 60. If it is then it will not award a merit.
D. It checks to see if the average mark is greater than or equal to 60 and the prints the average.

3. Explain how the total is calculated (line 7) in the above example.Answer

A. All of the marks are subtracted from each other and stored in the variable average_mark
B. All of the marks are added together and stored in the variable called total.
C. All of the marks are multiplied together and the printed out.
D. All of the marks are divided and then printed onto the display.
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4. The above code uses a fixed loop. What will the fixed loop do?Answer

A. Print “counter” 10 times.
B. Repeat “Computing Science” forever.
C. Nothing will be printed on the screen.
D. Print “Computing Science” 10 times.



5. What is the most appropriate data type to store the number 2015?Answer

A. Integer
B. Boolean
C. String
D. Real Number

6. What is the most appropriate data type to store a car registration plate?Answer

A. Integer
B. Boolean
C. String
D. Real Number
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for counter in range(10):
print "Computing Science”




